ISTXX1045MIX ING. 31.05.07. REV=00

Technical sheet:
KIT. ABOVE TUB EDGE MIXER WITH 2-WAY DIVERTER

TECHNICAL CHARACTERISTICS:

- TESTING PRESSURE 12 BAR

- HOT WATER MARK ON THE LEFT RED

- COLD WATER MARK ON THE RIGHT BLUE

LIMITS OF USE CONFORMING TO THE EUROPEAN EN 817 STANDARD

PRESSURE MIN = 0.5 BAR MAX = 10 BAR
TEMPERATURE MAX = 90°

LIMITS OF USE RECOMMENDED BY UNI EN 817 FOR GOOD OPERATION

PRESSURE MIN = 1 BAR MAX = 5 BAR
TEMPERATURE MAX = 65°
WARNINGS:

- THE SYSTEM MUST BE VERY CAREFULLY DRAINED IN ADVANCE TO AVOID DAMAGE TO THE FITTING OR INSTALLED TECHNICAL
DEVICES.

- A CENTRAL FILTER PROTECTS THE SYSTEM FROM IMPURITIES IN THE WATER.

- IN THE CASE OF FEED PRESSURES GREATER THAN 5 BAR, WE RECOMMEND INSTALLING A PRESSURE REDUCER TO PROTECT THE
EQUIPMENT.

PROBLEM POSSIBLE CAUSE SOLUTION
COLD WATER COMES OUT WHEN HOT IS | HOT AND COLD WATER FEEDS ARE REVERSED REVERSE FEED PIPES
SELECTED
LOW FLOW CAPACITY SYSTEM PRESSURE TOO LOW CHECK THE SYSTEM
OUTPUTS OBSTRUCTED CLEAN AERATOR, SHOWERHEAD, ACCESSORIES,
ETC.
IMPURITIES CLOGGING CARTRIDGE INPUT HOLES DISASSEMBLE THE CARTRIDGE AND CLEAN OR
REPLACE IT
INPUT FILTERS CLOGGED CLEAN INPUT FILTERS
COLD WATER ONLY THE FEEDS ARE REVERSED REVERSE FEED PIPES
BOILER FAILURE CHECK SYSTEM
DIFFICULT TEMPERATURE REGULATION | HOT WATER TEMPERATURE TOO LOW CHECK THE HOT WATER SUPPLY
LARGE DIFFERENCE BETWEEN FEED PRESSURES BALANCE THE FEED PRESSURES
LEAKS TO THE OUTPUT GASKET SEALS DAMAGED CHECK THE GASKET SEALS
DIRT BETWEEN SEAL DISKS REPLACE THE CARTRIDGE
CERAMIC DISKS SEVERELY DAMAGED BY IMPURITIES REPLACE THE CARTRIDGE
LEAKS BETWEEN CARTRIDGE AND BODY | GASKET SEAL DIRTY OR DAMAGED CLEAN OR REPLACE GASKET SEALS
LOCKNUT HOLDING CARTRIDGE LOOSE TIGHTEN THE LOCKNUT
SHOWER HEAD LEAKS WHEN WATER IS IMPURITIES ON THE DEVIATOR GASKET DISASSEMBLE AND CLEAN OR REPLACE THE
COMING OUT OF THE MOUTH DEVIATOR
LEVER LOOSE THE FIXING GRUB SCREW HAS LOOSENED WITH USE TIGHTEN THE GRUB SCREW
DIMENSIONS:

204
Law R
-3
D46 l 1
! - )
L™ == oy
ST ' D} -t T
‘,Ff' (o]
i G ?'x. =
Al @26x19° = M48 %15
G 1

ISTXX1045MIX ING. 31.05.07. REV=00 1




ISTXX1045MIX ING. 31.05.07. REV=00

ASSEMBLY INSTR IONS:

L as u
b & & 3

[ e— —
i ——
| S ——
I
I I !
==
—1
299 mm W
DEVIATORE MISCELATORE

FORQ INDICE ~
ENTRATA FORD INDICE
ACOUA MISCELATA USCITA

ACOUA MISCELATA

MAX 400
MAX 460 MAX 170
MIN 160 MIN 70
026 033 048 048
045 0 L7 D6L D 6L

ISTXX1045MIX ING. 31.05.07. REV=00



ISTXX1045MIX ING. 31.05.07. REV=00

HOSE
DIVERTER-SHOWER
OUTLET

M12 X1-M15X1 600 mm

HOSE

DIVERTER- SPOUT
OUTLET
M12X1-G3/4”M 600 mm

HOSE
CONNECTION
M12X1-G 3/8 300 mm

N°2 HOSE
FEED M12x1-G1/2” 1000
mm

ISTXX1045MIX ING. 31.05.07. REV=00




